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13.1/13.2 Trigonometric Ratios- Tangent, Sine, and Cosine 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
Measure the side opposite ∠𝑋 (𝑌𝑍̅̅̅̅ )to the nearest tenth of cm. 
 
Measure the side adjacent ∠𝑋 (𝑋𝑌̅̅ ̅̅ )to the nearest tenth of cm. 
 
What is the ratio of the opposite leg length to the adjacent leg 
length rounded to the nearest thousandth? 
 

𝑌𝑍

𝑋𝑌
≈ 

 
Compare your ratio to others in your group?  What do you notice? 
Why? 
 



On your calculator, find tan 40°.  (on my calculators, press tan 
then 40 then enter).  What do you notice? 
 
A trigonometric ratio is a ratio of the lengths of two sides of a 
right triangle.  The three basic trigonometric ratios are tangent, 
sine, and cosine which are abbreviated tan, sin, and cos. 
 
In a given right triangle, ∆𝐴𝐵𝐶, with a right angle at vertex 𝐶, 
there are 3 sides.  The side adjacent to ∠𝐴 is the leg that forms 
one side of ∠𝐴.  The side opposite ∠𝐴 is the leg that does not 
form a side of ∠𝐴.  The side that connects the adjacent and 
opposite legs is the hypotenuse. 
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Sine =Opposite    Cosine =Adjacent   Tangent =Opposite  

     Hypotenuse   Hypotenuse      Adjacent 

 
 
 
 
 
 
 
 
 
 



 
 
 
 
 



 
 
 
 
 
 
 

The sine function sin takes an angle and gives you the ratio  
opposite 

hypotonuse
 

 

sin 30°=
3

6
= 0.5   (press sin 30 or 30 sin on your calculator) 

 

The inverse sine function sin-1 takes the ratio 
opposite 

hypotonuse
 and gives you the 

angle 

 

sin-1  
3

6
= 0.5 = 30°   (press 2nd sin 0.5 or 0.5 2nd sin on your calculator) 
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